
Let L = q+Rp and L′ = q′+Rp′. Suppose x, x′ ∈ L∩L′ and x 6= x′. Therefore,
we have

x = q + αp (0.1)

x = q′ + βp′ (0.2)

x′ = q + α′p (0.3)

and

x′ = q′ + β′p′. (0.4)

Since x 6= x′, it is necessary that α 6= α′ and β 6= β′. (0.1)-(0.1) gives

q − q′ = βp′ − αp (0.5)

and (0.3)-(0.4) gives
q − q′ = β′p′ − α′p (0.6)

These two equations implies that (β − β′)p′ = (α − α′)p. Since α 6= α′ and

β 6= β′, it implies that p = λp′, where λ = β−β′

α−α′ and therefore Rp = Rp′. Then
either (0.5) or (0.6) implies that q − q′ ∈ Rp.
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